Sixth lecture
	1
	……..has been the central problem of translating since the first century BC.
1-to translate literally of freely .
2-to translate long text 
3-to translate science text 

	2
	Up to the 19th century , some kind of …….translation was favored 
1-conditional
2-free
3-simple

	3
	The free translation is ;
1-the letter not the spirit .
2-the text without spirit 
3- the spirit not the letter

	2
	To translate the sense not the word , the message rather than the form )) that's called;
1-conditional translation 
2-free translation
3-senseless translation

	3
	At the turn of the 19th century the writers had the view that translation ……….as possible
1-not necessary to be a literal.
2-should not be literal at all
3-must be as literal .

	2
	…….is an interlinear translation , with the TL immediately below the SL words
1-literal translation
2-word-for-word translation 
3-faithfull translation 

	3
	……..attempt's to be completely faithful to intentions and the text realization of the SL writer 
1-semantic translation
2-literal translation
3-faithful translation

	3
	………is more flexible admits the creative exception to 100% fidelity and allows the translator's intuitive empathy with the original 
1-word-for-word translation
2-faithful translation
3-semantic translation

	2
	………differs from faithful translation only in taking more account of the aesthetic value of the SL text 
1-faithful translation
2-semantic translation
3-literal translation

	2
	It is the freest form of translation 
1-faithful translation
2-adaptation
3-literal translation

	1
	It's used mainly for plays, poetry stories ;
1-adaptation
2-literal translation
3-word-for-word translation

	2
	……..reproduces the matter without the manner , or the content without the form of the original 
1-idiomatic translation
2-free translation
3-adaptation

	1
	It is usually a paraphrase much longer than the original 
1-free translation
2-idiomatic translation
3-adaptation

	2
	It is often prolix and pretentious , and not a translation at all 
1-communicative translation
2-free translation
3-adaptation

	1
	It attempts to render the exact contextual meaning of the original in such a way that both content and language are readily accepted and comprehensible to the readership
1-communicative translation
2-free translation
3-idiomatic translation

	2
	Only………translation fulfil the 2 main aims of translation .
1-free and semantic
2-semantic and communicative
3-semantic and free

	3
	a………translation is more likely to be economical than a communicative 
1-free 
2-idiomatic
3-semantic

	3
	a…….translation is written at the author's linguistic level.
1-free
2-literal
3-semantic

	3
	a……..translation is written at the readership's level
1-semantic 
2- adaptation
3-communicative 

	3
	a……translation is used for expressive text 
1-communicative
2-free
3-semantic

	2
	a………translation is used for informative and vocative 
1-word-for-word 
2-communicative
3-free

	3
	a……….translation is personal and individual .
1-free
2-adaptation
3-semantic

	2
	a……… translation is social , concentrates on the message and the main force of the text 
1-semantic
2-communicative
3-adaptation

	2
	a………..translation has to interpret 
1-communicative
2-semantic
3-idiomatic

	1
	a………translation has to explain 
1-communicative
2-semantic
3-idiomatic

	2
	………is the way of life
1-translation
2-culture
3-language

	2
	The……….lead to a translations problem
1-language focus
2-cultural focus
3-writing



